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tutJPEP hidpbnh pFft unCfuurrtpn pfrqp

gnmubn 2-nn lunr-r"fc l3-4 LnunbtlutJ 1 30

Uhehu funudp /4-5 muPblutU/ 1 30

Udurq funr-dp /5-6 muPblt'ult/ 1 30

CL4nrrIbUS 3 90

2. tUUShPUg nFgUt{ C, rlUCSnLUS hL .}nnFSgU?UOtsFe'

1
SUopbtr 1 160000

2 Q1fu. il-n2tlut4tuh 0,5 1 20000

3 Ubpn4frur"n unUopbUft nlu.qbn{ unbrluLltul 0,5 1 20000

4 'IuumhurnuLl 3.75 1 20000

E bnu:dzmutl uU nbt,tut tlun 0,75 1 20000

6 ')ru urn[u putUh oqlu LttttU 3.3 100000

7 $hq. hnuhLuught 0.5 120000

8 Fnrdpnu;p 1 1 10000

I SUmbu{up 0.5 1 10000

10 funhuptup 1 1'10000

11 tunhuptup[ oqUuluttt 0,5 95000

12 OduUnuU putU{np 0,5 93300

13 L{urgu.tpr.up 0,25 93300

14 turrluputputp 0,5 93300

15 lUngurquutr gbnnr-gtluU ubqnllr hudtup 1 93300

16 Our LluUuqnpb blEtlunpu dnUunlnp 0,5 93300

17 ')nUuu.lul-t 1 93300

18 '||uhurtl 2 93300

cL'IUUtsLe' 19,05

3. UCluUSn'ILbnh eULUqC' 22
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